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QUESTION 1

You want to compare the contents of the system database and the contents of the File Repository Servers. Which tool
do you use? 

A. Repository Diagnostic Tool 

B. SAP BusinessObjects Dashboards 

C. SAP BusinessObjects Explorer 

D. Information Design Tool 

Correct Answer: A 

 

QUESTION 2

On a business intelligence platform, the following values can be assigned to rights: 

uk.co.certification.simulator.questionpool.PList@51cd7fb0 

Which of the following calculations of effective rights is correct? 

A. G + D + NS = D 

B. G + NS + NS = NS 

C. G + D + G = G 

D. D + NS + G = NS 

Correct Answer: A 

 

QUESTION 3

A user wants to create Web Intelligence documents. However, the necessary option is not available on the BI launch
pad. 

What could be the reason? 

A. The user does not have rights to use the Universe connection. 

B. The object level security in the Universe is not set to the appropriate level. 

C. The user does not have rights to use the Universe. 

D. The user does not have rights to use the Web Intelligence application. 

Correct Answer: D 
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QUESTION 4

Why would you configure a second Server Intelligence Agent (SIA) on the same host? 

A. To allow servers to be secured separately 

B. To allow servers to run under different network accounts 

C. To take over the management of the first SIA\\'s server if it fails 

D. To increase the processing capacity of the host 

Correct Answer: B 

 

QUESTION 5

User A designs a document and exports it to a public folder called "Sales" on the Business Intelligence platform. User B
copies the document to a public folder called "Marketing". User C schedules the document in the "Marketing" folder. The
administrator deletes User A from the system. 

At this point, who is the owner of the document in the "Marketing" folder? 

Please choose the correct answer. 

A. User C 

B. User A 

C. Administrator 

D. User B 

Correct Answer: D 
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